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I Python THIEIFRESET ?
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LHORESHFBERN

1>

7 > MBI D—EB

v JOwD (for x> if IREDEHE) =1 >F > M TXRIH

int main(void)

{

int 1 = 9;

for(i=0; i<5; i++){
printf("%d¥n", 1i);
}

return 0O;

— s CHERRI— FIETSD

for i in range(@, 5, 1):
print(1i)
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ZHDEESHBERR
1257 > MHUHEHAID—ED

v 2J0Ow (for ° if IREDERE) =1 >7 > hTHRH

— s CHERRI— FIETSD

int main(void)
{

int 1 = 0;

for(i=0; i<5; i++){

for i in range(@, 5, 1):

printf("%d¥n", i); print(1)
}
;etur‘n % , cnTeEFE v AIFEEN S L)

TH, BL v AT FTDRECEND
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STIVIRETIL (EF{ER)
T+l = AT 29 =1
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PythonTEMBIHITE

SO LETERDIA-T 2V —-RADD—5+ 2IURIR
- XFEEN CTHAEZEDDICENTED {EIEEUTOBEITHEAEE !

File Edit View Run Kermmel Tabs Settings Help

Files ()

Commands Running

Cell Tools

Tabs

» Practice.ipynb o

B + X O 0 » »m C Cotde ~ Python3 O

print('Hello wWorld') <« j_ Ft)l’

Mello World
a, b= 3, 4

a+b

7

I In [ ]: | import ma
macpath
mailbox
mailcap
markupsafe
marshal
math
matplotlib

<« J—PFEILODOETHER
#IERE
[Enter] Ti¥fT

[Shift] + [Enter] T=1T
[Alt/Option] + [Enter] Ttz)LiENN

< [Tabl f#i5s
NFZANDUT[Tab]F—%&H9 &ix@h D
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PythonTE SBT3

€ ce 495100 OO0 & O Dockerkiagk > 2N e
— Jupyter
.- S Pty ACHOng On the Yrw o
| N
Upload |New~ | &
Notebook
id
Python 3 ‘
C e D 26899100 . ) v @ % O Dockerkitageks > T ER Cther
j Jupyter Untithod Last Chackpont IS fomaaved changes) A _— Te)(t Flle
»* OB e+ ¢ NEsECW o vl = Folder
Terminal

New -> Python3 %R
>FHUWD 7 > ROHEL
(Notebook)




Jupyter Notebook

Python TTEABIHEITE

(IR} D 19296499100 ‘ . v @ @ % O Decer kikagake d 2NnNe0D =
': Jupyter Untitlod Las Crackpone IS fomaved changes)
''''''

B+ O 0B @ ¢ Hie B C W Cum v =

: Ju pyterl UntitledILast Checkpoint: Z1#28] (unsaved changes)

File Edit View Insert Cell Kernel Widgets Help

B 4+ = A B 2 % MHRun B C » Code v =

Notebook®d#£#i% Untitled > HelloJupyter [CUR—AUTHELD

Rename Notebook

Enter 2 new notebook name

Rename
F7=lX [Enter] TZEE
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In [1): print("CAITBIZ")
—AICBIZ

In [2]: a,b=2,3

In [3]: a+b ej_,{t}b

out[3]: 5 " 4=
«— d—PRFEIDETHER
ATz bR E RS <~ Markdown
In [4]: b = dict(iscie=5, sice=63) < Code
In [5]: b? File Edit Insert Cel Kernel Widgets Help
ATS 5 MEOBRR B + % @B 4 ¢ WRn B C »[cee [V =
Code
In [6]: import scipy as sp m
sp.¥|ux? In [1]: print("CAICEIZ) Raw NBConvert
- - Heading
m@*um hAJI‘-SI; l
) $
J— RtzJLoish - B
In [7): %¥history -no 2-3
File Edit View Insert Cell Kernel Widgets Help
2: a,b=2,3
_ dath f&]ibowc»coce 7 =

Tj—Btwwiﬁ-Em
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# Setup
n =09
# Loop
for n in range(10):
n=n4+1
# The % 1s the modulo operator
if n % 2 ==
| print(n)

7DVDE4 5> NTERIR

1>

Fob = #AHAANR—R4D!

# [#] Z2OF35EAA PO

#IEHTDIZEL,

" X1 X2 " O&SE "] TES
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- BUEIEEEE, RE, ERBDEMIC, 2EHRVOI16ENGIRAD
mey 1,2, 3, -3, -2, -1

= 1.5, 3.1415 0b1010 # 23X - 10

#BF=E 1437, 2+1j, 3.2+5.6] oxAl # 161EZX > 161
- BHEDMAIGTEPOASZSEOHAENTES

MmE 1 + 2 #(=3) m 17 // 5 # (=3)

HE 5 - 3 #(=2) & 17 % 5 # (=2)

=z 4 * 6 #(=24)
e 10/ 5 #(=2.0) AREFFE 3 ** 2 # (=3*%3=9)
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int®22 X =1 boolZ2 ok = True
float?®X y = 1.0 ng = False
complex® z = 1+3j

str8 msg = ‘Control’ XFAEFS>IIIOA—-FTZ3a>THD

- BEADIR

FD - LQHORVICHEFEIMEZ 20
- if A2 for, lambda & EDFHIFE(IEZ RN
s AXFENWXF(IXFIETND
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- URAPMDEEESHEBAE 1>F7vIORTONSIEES

datal = [3, 5, 2, 4, 6, 1]
0 1 2 3 4 5 :7EEEHhSZ=RIIES
-6 -5 -4 -3 -2 -1 KEHNSSHEIDIESE
datal[@] — 3 datal[-2] — 6
s ATM R BT YIR~METAOTYIR-1
datal[2:4] — 2,4 datal[@:2] — 3,5

« ZIRFTTDURA BN ANFICTS datal[@][1] —» 5
data2 [ [3, 5, 2], [4, 6, 1] ]
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- AYy R

L = [1: 2, 3, 4]

L.append(5) ERDE
dei.l L[1] EZDHIER del L &9B3EURBRTEHIBRENDS
print(L) L.pop(1) OAHED

>>> [1, 3, 4, 5]

L.extend([6, 7]) URAMDERE L = L+[6,7] THEOK
print(L)
>>> [1, 3, 4, 5, 6, 7]
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RV IE—¢&ENIE— R LRI TIE—
x=[01, 2, 3] id(x)

y = X

y[0] = 10 120856690432

print(y) # [10, 2, 3)EHHE B
print(x) # xDEH[10, 2, 3)ICEEZINB

id(y)
:ig' ; g} 120856690432
X = [ 1, 2, 3] —
y = X.copy() COpy() Eiﬁj id(x)
y[(0] = 10
print(y) # [10, 2, 3]EHTIENS 120857132640
print(x) # xDEEEEINTIC1, 2, 3)EHDSI B
(10, 2, 3] id(y)
(1, 2, 3}

120855504048



PythonTEABIHIE
- T IVDER
tuple = (1,2,3,4) hi&EN () TEHS
tuple[@] — 1
UZXMDESEDEN, SSBMANTETR = HHAHEHDEE
tuple[0]=5 ZHEITTE/RL)

data = [1,2,3,4] #UX b
data[@] = 5 ZH{TT&ESD — [5,2,3,4] &RRDB



forsd (JL—2)

PythonTEMHIH T

for Z3 in A 7YV

L1795 DNE]
14> (ZEA41E) K179 DE2 B%CT:] #0133

for i in [0, 1, 2]:
print(i)
>>> 0, 1, 2

for 1 in range(0,3):
print(i)
>>> 0, 1, 2

B DBREFRZIICKAL
DR NE

0519 DI8XS3KLD
INEWEHDYRX bz ERK

range(3) CHKLY



i3 (SRAFDIR)

PythonTEMBIHITE

if & tbﬁﬁﬁ%;
SRR TRITT DA == =L
125708 (ZEB4E) else: = ig;gt:
_ >
Ny ey ==Y |
RYARRILTREITT DANIE = b
< Xl
for i in range(5): <= PIF
if i < 2:
print(‘%d < 2" % i) | < 2015 >>> 0 < 2
elif i==2: S 1 < 2
print('%d == 2' % 1) i = 20058 >3 2 == 2
else: >»> 2 < 3 < 5
print('2 < %d < 5' % i) znpsoEe >>> 2 < 4 < 5
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* NumPy : ZiESHEOBARS ISV

- Matplotlib : 2%5%, 3X%xo0OY MDSAITSU
- Sympy : BRUEBDS 1SV

- Python-Control : flf i TEDS1I 5V

(SciPy) : #EHE7ZILJVUX L (ES0E, miEik, #%Et)
(Pandas) :5—99h
(Scikit-learn) : #REZBDSAI SV



54120 5 UDIHFHAH
import £/z(X, from TSI S U%&EMMHAD

PythonTEMBIHITE

import S42735U%
import 24735U% as &

import numpy as np np CTHHAAT
X = np.arange(o, 10, 0.1) np.REETET

from 547502 import BE#E

from scipy.integrate import odeint

X = odeint(system, x0, t) BEMZE T TR TES



Python : NumpyS12'SVU

import numpy as np

FEbRDETIDIERK
arange( start, stop, [step])

T =

= AR

sin, cos

BEX

)

np.arange(0, 10, 1)
>>> [01 234567 8 9]

75 - XD MVOYERL
array( [ [1178], [2178], [3178] ] ) -
datal[:, 1] >>> [15H]

o]

import numpy as np

A = np.array([ [1, 2], [-3, 4]])
print (A)
({1 2)
[-3 4]]
print (A.T)
([ 1-3)
[ 2 4]]
B = np.abs(a)
print (B)

(1 2]
[3 4]]

175k

np.linalg.det (A)

vvvvvvvvvvvvvvvv

np.linalg.matrix rank(A)

520

ml

JNI=]

PythonTEMBIHITE

np.transpose(1T5!)
1751.7
x = np.array([1l, 2])
print (x)

(1 2]

JIVA

np.linalg.norm(x)
2.236067097740087¢
W, Vv = np.linalg.eig(A)

print ('eigenvalue=",w)
print ('eigenvector=\n',v)

ER{E

eigenvalue= [2.5+1.93649167j 2.5-1.93649167]]
eigenvector=
[[0.387209833-0.57 0.38729833+0.57]
[0.77459667+0.35 0.774596867-0.3 1]
C = np.linalg.inv(A) AL g =
print (C) E”yu

[[ 0.4 -0.2]
[ 0.3 0.1]]
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np.arange(@, 5, 0.1)

data3

data3

L
N
~NMmMm
147
123

- -

Mmoo
TN T

- p—

9258
0234

8147
SNMT

~ m O
S MNM =T
OO MN;m
S -
(T~ B o
@M
T~ m
S-MmMmw
3692
0124

2581
SN
T~

SN
Mmoo
S-ANmMm

array([0. ,

BHEES (0S5 1EEEL)

data3(0::2]

array( (0.

SHES (1Hh51ELEEEL)

data3[1::2]

73 77

1=1]

data3|(:

- O a
N~ -
M AN -
@ wn N
M ON
- % s
oo m
MON-®
- 8 N
741
4210

-

1852
4210

N O m
T NS
m o~
Mm-S
< ~ © N
Mm-S
" N OO
T Mm-S
om ~
MmN S
M~ o~ 0
MmN S
® N O
RS
oo m

< M

array( [4.

15&BBEFT 2ERITL

data3[1:15:2]

array([(0.1, 0.3, 0.5, 0.7, 0.9, 1.1, 1.3])



Matplotlib

PythonTEMBIHITE

Python : matplotlibS1I5SU W, A marker, 1518

. . color, &

import matplotlib.pyplot as plt ls, &% ’
dcs | WM dics | R X & X7 | &
- TR -- | R b ] g *
= R || - | AR r o/ c | Y7V

plot(#>—%, #MT—5, [A7Y3aV]) o [~ey ]y | R

P83 W -

import numpy as np import numpy as np

import matplotlib.pyplot as plt import matplotlib.pyplot as plt

X = np.arange(@, 4 * np.pi, 0.1) X = np.arange(@, 4 * np.pi, 0.1)

y = np.sin(x) y = np.sin(x)

plt.plot(x, y) # 1&Ehx, Ht#y TIOVH fig, ax = plt.subplots() # Figure&AxesZ7I1h FDIERL

plt.xlabel('x"') # x EHDINILEHRTE ax.plot(x, y) # AxesZA7IIHrDHRICTFTEER

plt.ylabel('y') # y EHDINILZERE ax.set xlabel('x")

plt.grid() # JUvFDFRT ax.set_ylabel('y")

plt.show() ax.grid()

plt.show() HBAANRX !



Pythoni&& 1 : Matplotlib

fig, ax = plt.subplots(2,1)
X = np.arange(0, 4 * np.pi, 0.1)

y = np.sin(x)
z = np.cos(x)
W=Y + Z

ax[@].plot(x, y, 1ls="'-', label='sin', color="k") e , ! . |
ax[0].plot(x, z, 1ls='-."', label='cos', color='k") 0 2 4 6 8 10 12
ax[0].set xlabel('x")

ax[0].set _ylabel('y, z') 1-
ax[0].set x1im(@, 4*np.pi) 2 0O-
ax[0].grid()

ax[0].legend() #JLl o , ] | | , ,
ax[1].plot(x, w, color='k', marker='.") 0 2 4 6 8 10 12
ax[1l].set xlabel('x")

ax[1].set _ylabel('w")

ax[1l].set x1lim(©, 4*np.pi)

ax[1l].grid(1ls=":")

fig.tight layout()



Python Control

Python TTEABIHEITE

LEEER L | a8g EREEE ELE

tf sys = tf(num, den) FRMBETVOER pole p = pole(sys) FRMROBERD S

ss sys = ss(A, B, C, D) REEMETLOER zero z = zero(sys) ERMADOBRE RO S

tfdata (Cnum]], [[den]] = tfdata(sys) FRMN O T - FB B OH H dcgain |k = dcgain(sys) MR 1 2 2RDD

ssdata A, B, C, D = ssdata(sys) KEEMD A, B,.C,D Ot step y, t = step(sys, Td) AT 970G

tf2ss sysss = tf2ss(systf) FRM D 6 RETMAOZ R impulse |y, t = impulse(sys, Td, X@) A IV AGE

ss2tf systf = ss2tf(sysss) FEEMY 6 ERMBEAOE R initial |y, t = initial(sys, Td, X@) MIHMEE (RANEE)

series . sys = series(sysl, sys2) AT LOMNES 1sim y, t, x0 = 1lsim(sys, Ud, Td, X0) | EEDANICHT HMMIEE

parallel | sys = parallel(sysl, sys2) AT LOETEE bode gain, phase, w = bode(sys, W) H—FRE

feedback | sys = feedback(sysl, sys2, sign=-1) | Y AF LD 71— F/){v 7 &A nyquist |re, im, w = nyquist(sys, W) F14¥2 MR

minreal | sysmin = minreal(sys) N margin |gm, pm, wpc, wgc = margin(sys) |74 ZRH#, {LHRE

(BRI, 71 ZEREROMN
fregresp | g, ph, w = freqresp(sys, Wc) HNEORMBABBIZY A EUHOBMN

e | R EL ctrb Uc = ctrb(A, B) TR O K

pade sys = pade(h, n) ENRESME RO /TIHE obsv Uo = obsv(A, ©) o MMETT RO
(h: SEEEBSRD, n: ¥

acker | F = -acker(A, B, p) 1 AARICHT 28K E

place | F = -place(A, B, p) EANRIIHT HIEER E

lar |F, X, E=1lar(a, B, Q, ) | MALFaL—7F Python: controlS1J'SU
J= ()x(z’Q:z: +u ' Ru)dt £R/ML
FA4L4r, XsUhoyFHRAOR, EML—TK

care | X, E, F = care(A, B, Q, R) VAo FHRAOR o
A"P{PA-PBR'B"P+Q=-0 from control.matlab import *
X: %, FFF=-R 'B"P, E: MIL—TH

c2d Pd = c2d(Pc, method='zoh’) MR ETAD BB ETALAOER

Pd = c2d(Pc, method='tustin’) | zoh: 0 &&= F, tustin: HN—KE#H
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1550 TOMZAE U TRR

#E DT A

s =0

for x in range(1,51):
S += X

print(s)

#sumzfE>
print(sum(range(1,51)))

#generatormA &7 reduceBdzl (SFEEIER)
print(sum(x for x in range(1,51))) S BB EEEIENE T

#reduceZfE> it e S
import functools
print(functools.reduce(lambda x,y: x+y, range(1,51)))
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HNUETHIENDIZRDD

import sympy as sp
sp.init_printing()

s = sp.Symbol('s")
pl = sp.solve(2 * s**2 +5%s43, s) 282 +5s+3=0
p2 = sp.solve(s**3 +s**2+s+1, s) 83—I—82 +s4+1=0

pl, p2

Maplet®Mathematica, Maxima ERIFERD ENNTEES
leERIL, STSAEWOWS TS AZRERIEETI
ZBERRXTHELLD

<9

PythonTEMHIH T
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import numpy as np

PythonTEMBIHITE

from scipy.integrate import odeint FRIDDHBDAE, u(t) = sin(t)
import matplotlib.pyplot as plt DEBRERBTHFEFLLD
def system(y, t): 10 ]
if t < 10.0: o
us=2~2 ‘
else: 06
us=1 g
dydt = (-y + u)/5.90 o
return dydt 021
=~ Qutput (y(t))
= |nput (u
y@ _ 9.5 0.0 - put (u(t))

0 5 10 15 2 25 30 3 4
t = np.arange(0, 40, 0.04) Time
y = odeint(system, yo, t)

fig, ax = plt.subplots() # FiguretAxesZA 7 I1hH  DIERL

ax.plot(t, y, 'r-', label='Output (y(t))"')

ax.plot([o, 10, 10, 40], [0, 0, 1, 1], 'b-', label="Input (u(t))')
ax.set xlabel('Time")

ax.set _ylabel('Values"')

ax.grid()

ax.legend(loc="best’)
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A,I o EE S IEI
7 \VA R IN I Jé(t) _ _cé(t) — mglsin0(t) + 7(t)
/g | l #RAZAL
\ ae n
JO(t) = —ch(t) — mglh(t) + 7(t)

§ u®)=7(@) yt)=0()

u(t) I y(t) Jij(t) + c.«)(t)(+) mgly(t) = u(t)
o(t

4 () = [9@)] RiE GRUSCEBRESD)

IRREFH 1= z(t) = L 1 T U
u(t) U(,u\jjiziﬁ y(1) ®) [—‘"j, J] (t)+[ ] t)
y(t)=[1 0]z() REHEN
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@y(t) R ey yt) + - +a &y(t) + aoy(t)
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ﬁ?ﬂﬁiﬁ/ EUT, EERETD y(t) o
RIE & 4B (C5E
u(t) y(t) IE5%RA T AYAYA . y(t)
= 3 JElREER :
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N ZP(jw)
0
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EFHHEN

JO(t) = —cO(t) — mglsin 6(t) + ()
J me

JO(t) = —ch(t) — mglo(t) + 7(t)

§ y@)=6@) u(t) = 7(2) 2(t) = [O(t)] u(t) = 7(t)
Jij(t) + cy(t) + mgty(t) = u(t) o] vt =o0)
1 >T75Rz# #(t) = [_g@ . ] z(t) + [ ] u()
p(s) = ¥6) _ 1 o
u(s)  Js2 +cs+mgl y(t)=[1 0]z()

{RiERIEN IRREFIER
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mz(t) = —cz(t) + f(t)

REEMDED 5 (C(EEHI

y(t) = 2(t) u(t) =
§ =(t) = 4(2)

1 v =% u@®)=
my(t) + cy(t) = u(t)
J STz

§ =)= [

B(0) = —Sa(t) + ~ut) o) = |
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] (t)+[ ]u(t)
1

RREFER
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{RIZERIZN

y(t) = z(t)

y(t) = |
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Lg Rz+0/zdt il:}% i2=;2—°2
Vo C/’&dt ’Uo=é/’l:3dt 11 +12+123=0
§ y(®) =vo(t) u(t) =wi(t) § y(@) =v(t) u(®)=vi(?)
p(s) = X&) _ 1 P(s) = Y6) _ R

u(s) CLs2+CRs+1 u(s) RiR.Cs+ R,
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_ [fim)ar] () = vo(2) (1) — v y(t) = v,(t)

0= \"7] e — it =2l L) = wt
' !

i) = | %y _1%] o(t) + [g] u(t) (0) = — ) — el

y(t) = [& 0] 2(@t) y(t) = z(t)



RIZREEES IV EIREZEEETIIVOREFR

PythonTEMBIHITE
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FEERHESTIVDATY T IE P(s) = 1 _ 0s+1
UFOI—RZ2RITLTHELLD 0.50s+1 0.5s5+1
from control.matlab import * Python : GEEREBESTILDER

import matplotlib.pyplot as plt
import numpy as np

tf( [DFOFRH], [HBORE] )
fig, ax = plt.subplots(figsize=(3, 2.3))

Python : 7Y IH&

y, t = step(EFI/L, BH)
apANSiE

P = tf([@, 1]; [9°5: 1])

y, t = step(P, np.arange(9, 5, 0.01))
ax.plot(t, y, color="k")

ax.set_xticks(np.linspace(@, 5, 6)) Python : 27 v I EDEHR

ax.grid(ls=":") _ . -
stepinfo(P) Info = stepinfo(EFI)
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EEREETIVDARATY I S P(s) _ 1 _ Os+1
MTFDOO—REETUTCHELELD 05s+1 0.5s+1

P = tf([@; 1]) [@-5, 1])
P

1

—TeXDOERRICIEDET

0.5s+ 1 \Hy/
AOUwWITBETeXAY > ROMEUSE]

s = tf('s")

P=1/(0.5%s + 1) —COWVWDODEETHBETCTEET

P

0.5s+1
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EZERIEET VD BB ERE P(s) = 1 _ 0s+1
MFOO—REEFTLTHELLD 0.5s+1 0.5s+1

C -1 Python : BEiREIGE

T=05 gain, phase, w = bode(EFI/l, RBAE¥us)

fig, ax = plt.subplots(2,1,figsize=(4,3.5)) T4V (f8) 8 (rad) ERE (rad/s)

P= tf([@J K], [T, 1])

gain, phase, w = bode(P, logspace(-2,2), Plot=False) ©.01 ~ 100 = logspace(-2,2)
ax[0].semilogx(w, 20*np.logl@(gain))

ax[1].semilogx(w, phase*180/np.pi) dBADZE 4 : 20*np.loglo(gain)

ax[0].grid(which="both", 1s="':") degN\DZE#L:phase*180/np.pi
ax[0].set_ylabel('Gain [dB]")

ax[1l].grid(which="both", 1s=":")

ax[1l].set xlabel('$¥omega$ [rad/s]")

ax[1].set _ylabel('Phase [deg]")
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G(s) = Cjw) =
(s) 1+ T3 (jw) T
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EFIL] + EFTIL2

BIES
S K —
> S > OS2 > Python : BFIiES
series(EFI)L1, EFIL2)
EFIL1 * EFIL2
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> 51 S = 81 + 82
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Python : Jr—RN\v oS

feedback (EFI)L1, EFIL2, sign = -1)

Python : Jr—RN\voREE

| feedback (EFILI*EFI2, 1, sign = -1)
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